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T T 150 AW WTST & T 7 : 32

IS FA A © Uge Huat Hra o wu ke it sargee ug

(1) 39 99 o S 97 8| e @ wir - 10 g T fow & gefera 13 25 3R 9wt 11 8 71 fos
Y HEE 26 € 75 WA I8 T F| @ 75 A BA HAT AAH 2

(2) YAH T 2 37 & T 7|

(3) I §A B & I Fo1 90 Foee =1 wmg e o)

(4) W < ToTC Toas ST & ST | Teh T AT o G- a1 faehed & AT haar deed
feu mu 3| T @ Wt s - e & Sefam #1 Hi= fow e SerewmgER W
3ET. T 6. 6 1 Hal I foehed . 2 7, A1 31T fou STaR W W)
T F. 6 0] JOIo)

(5) = e U 3grETer % SR 3ifhd fRr MU SR Tfiwnt T fhT 9| 3| YR 3ifeRa fekr T we
FIWH YA o I DOO®

(6) IIIUT T AT 20% T UH BRI Sk 4 I - faeheu ¥ ¥ ot fashew @@t g A g1 faehen 2ifeha
HET AR 71 ek fore ywai & ame wigs § ‘Gt |l foreew A v few e gmm)

(7) ‘2wt farew g’ t@ fidw & sifafd o forelt off wom o forw we @ s1feres g @1 wa
Fargiferd o W 38 I I ™ &1 T s

(8) U R 3Hfehd fohU MU IW Q&N oI &l ST Tl |

(9) forehed o IR 3ifehd T & fAIT ot et 3R At T o fetiy 1 & s&mT w1 Wfa @ iferda
IR TR T forn, SR |

(10) W9 < T g8 & = 3R 319 8 W %= &M (Rough work) & ¢ @Teft 18 7, 9@ st
%M (Rough work) |

(11) wem it erafy waifeq B9 % HRoT At et I9 &1 IR 3T9eR! &1 IaT &1 a1 A0 & U9 & hil
3T | FHA T T TG T YT ok T GH: TR

(12) fopeft woa & e /mrereht aitarfera g9 W wideres a1 qdien ohg d=mers A fomm fomst a1 Y|

(13) o= ¥ e /mrercht /38eh Tae | fag foremer steran stfirmaent gra wyg freromferentdt an freroretfespr
% urg fafea &0 5 7 Yot gafea foamer & difE 8 Afaars ughd & & 9|

(14) Ffe/mercdt/saeh Taa § FaeT tameT ughd & 99+ i o1afe gde uftvg & <9 wom & safe
(arerrft) SR gt % fvd B9 T 10 (59) T a6 wlh

(15) 20T T AT 3T SRV ¥ Y Tl IRaierd 2 R st |fdfa o Folmgar am wriarg i s

(16) Het wream o @1 S wor § off -y foam mn 31 gt wrem % Gigy gt & fore ush ye gE|
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01. 9g geae @Widl @ifhd I6g 1 YR TgAMI?
(1) 3T (2) fae
3) Iew-fadw (4) =13 &

02.  ‘Hfy’ Iuwl @ W SETen AUl weg  wgEHl

(1) T 2) IH
(3) (4) T

03. fou T Hfy Weg H SEIEA T WA TEEH
(1) e ) it
(3) hfgeR (4) Hiqad

04.  frafifgq sl & & ol fow aten w@fE gg=M:-
(1) uf=sg 4g fo=m @n? (2) T gut 3!
(3) M =l T (4) T 9 THA @ier?

05. forgres & ¥ 1 FigH 8| @ifhd ¥ & ;T H1 TSR TEaHI:-

(1) YeaT=Es O3l (2) SfqarEes |
(3) TaTEe | (4) Afeqares @
T HE T T
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06.

frafafed @ @ 9cgEy ¥HE % @ W@ gL

(1) A (2) HaeagaEd
(3) RIS (4) =TT
07. ‘e’ weg w1 faug wgEml?
(1) F+wa (2) F+%a
(3) H+wa (4) FE+%d
08. qm wEt wed |, AL SR-3TW T <@ HU; 39 IR H JhR TgaHl
(1) Hehardeh () W
(3) fa (4) "I
09. ‘femer 4 o3 w2 9 § WgE TR ST S UEEHI
(1) hre (2) oI wfosaehra
(3) i T (4) IOl FAHEHT
10. fow 7o s & @ GRaae @ wi A
(1) g 2) Y& W@ 2
(3) T (4) = W R
1. SEpeeR w1 3™ 93t § 8 g4
(1) oeft ) fem
(3) TG @
T HE P T
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(1) TR () g
3) W (4) HramETg

9T 13 ¥ 15 & oo g=Ar -
fefafed Ta-uiesg *1 SHYEs Ye Y@ T U % 3fud IeR SRy
Iy fogame ® AR fiF fo e W ed gfoifiarsti 1 i
o e oon RNt % 3 fogael 3 weedl, Pedid, R, @i-@l A ©d
yfoenfirarstt & feeen foram on @ wfeifiaren w1 e Bl # 9 IR <@l
T WM U S 3 WA WA e EHe gl

3. aeata wd af@ifaet o ey he faguem #@ foem mn ey

(1) el fergame ) Teeeht fagamem

(3) e fagame™ (4) Iy fagamer

4. @ yfqafiad @mar fea feg 9 =<fie?
(1) = (2) =R
(3) 3 (4) U=

1S. @& yfaaifmrstt & @ud fhad a9 gam?

(1) =W (2) =
(3) = (4) wm@
T HE T T
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Z4

I9T 16 ¥ 18 & foTu g=AT -
fafafigd sfaar i 9fFaal sl gt 3T 9 feu TU ywai & 3Icad SdEu:-

Tsh Gdsh odl 8 T, hoA-Hd Hl d@d ST
g9 § S agrd SMRf, fE s 399 <

T 4 B IHE GWd AT, 9 I 9™ T ol
qehehl &1 Wi, forgft we # & g@ g

o~

U Teh ol & dueh, faa-fad e fae S
AT A AR, S " @ HYT K T

gg Al dhelE, gEU w1 R ot TSR |
fired-fied o, we ufoepl =1 W femn s

16.  FA-%a Fd T AT F@4 H TOh HH ol 87
(1) <= (2) =
(3) I (4) @b

17. &y g0 o1 9d% edl 87
(1) TheT® ol 2) Tra-foem fie s
(3) TEd fegm (4) I9HHE G FA

18.  dyes TER(SF) ¥ F1 G HET ABRA 77

(1) T (2) 9T
(3) Foret (4) oFH
T HE T T
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19.

‘fegert’ 30 wee w1 gEERf 3w HiET MY

(1) (2) FwId
3) Hem 4 i
2. f= G M IS H 9 wn-t @ Sifeat fawguneff T R0
(1) 3&d@ x T (2) SUBR X TIUHK
(3) TemE x W (4) gow x gow
21, 9 few U wedl W @ MYEW WeE UEEINU :
(1) o= (2) frred
(3) wfFa (4) e
2. A Foflg T SR A A R, T ... gl 2|
(1) SARY HET (2) @ST HTA
(3) #f o (4) W HhI RN
23.  ‘9r @fc @ET gEe Wl siA-ar g g7
(1) <gar T ggem (2) digd wgm
(3) X B (4) <gm H W B
T HE T T
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24.  frm foosht =afeq &1 aRRe Ehr e mn 27
(1) #ex 3@ 2) EH HA. TR @H
(3) T (4) . STeEH

25.  ‘sor’ wee W o9ul 9 foRH YHR 1 aui B?

(1) 7= ) e
(3) 3 (4) hadTered
T HE T T
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26.

27.

28.

29.

30.

SECTION - 1I

MATHEMATICS
Factors of a polynomial are (x — 7) (x — 8). Find the polynomial.
(1) x2 + 15x + 56 (2) x* + 15x — 56
(3) x% — 15x + 56 4) x% — 15x — 56

Reena had some flowers. She prepared garlands from them. When she made
every garland of 12 flowers, she was left with 11 flowers. If she had used 16
flowers for each garland then she would have left with 15 flowers. If she had
used 18 flowers for each garland then she would have left with 17 flowers.
Find the minimum number of flowers that she may have.

(1) 161 (2) 155 (3) 143 4) 145

The sides forming right angle of a right angled triangle are 7 cm and 24 cm.
Find the radius of the circumcircle of the triangle.

(1) 25.0 cm (2) 12.5 cm 3) 12 cm (4) 13.5 cm

Every year the population of a town decreases by 5% due to migration of the
people. In the year 2022 the population was 9025. Find the population of the
town in the year 20207

(1) 10,000 (2) 11,000 (3) 11,025 4) 10,250

The denominator of a fraction is greater than its numerator by 6. If the
numerator is decreased by 1 and the denominator is increased by 9, then the

new fraction is equivalent with % Find the original fraction.

3 @ 5
3 1 @ &

SPACE FOR ROUGH WORK
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26.

27.

28.

29.

30.

fawm - 11

arfora
frelt ANt =9 & PH WE (x—7) (x—8) B, I I8 sl HIA-|T g7
(1) x% + 15x + 56 (2) x% + 15x — 56
(3) x% — 15x + 56 4) x2 — 15x — 56

T & 99 F8 FA 2| ARG I 12 Pl & FER AT dIR fRAm a1 3uk
TE 11 A W9 WA B AR TAR 16 Bl b IAR AT dIR femar
15 a0 &=d 3| A TR 18 Pl & JIIER W R fEm @ 17 B
I9 A B, Al 3k UH HH U HH fhad poA BM?

(1) 161 2) 155 (3) 143 (4) 145

frelt TH wEem BYS # W@ SAHaTel gemedi Hl ders 7 @ IR
24 T B, A 38 BIYS % diged kI BreEm FRa @Rl Y
(1) 25.0 @t (2) 12.5 @i (3) 12 @ (4) 13.5 Tt

TYMIAH o HNU Teh T hl SHEEIT Tcdeh o8 5% o < § %A Fdl 2l
TT 2022 HI W MG HI THEE 9025 7, @ 2020 H IE MG Hl FHGE
foraft oft?

(1) 10,000 (2) 11,000 (3) 11,025 (4) 10,250

oot = o1 &, I T 6 T AP 7l IR 3 1 ¥ w9 B W W
9ﬁmaﬁﬁqﬁaﬂlﬁ%§m@mé,?ﬁ%ﬁmaﬁq—w?

I 3 @ 3% 3 15 @
T HE T T
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31. Solve. (Select two correct options)

3x+2 , 2x x+1 _
6 T3 T 3 79

D 3 (2) 25 3) 35 (4) 3%

32. If an article is sold for Rs. 150, certain loss is incurred. But if the article is
sold for Rs. 275, the profit is one and half times the loss. Find the original
price of the article.

(1) 225 2) 250 (3) 175 (4) 200
33 . . 2x2+7x+6
o Simplify - S 33
2x+3 2x—3
M =715 @) YF715
2x—3 2x+3
C) @ YF15

34. To complete a job, ‘A’ requires 12 days. For the same job, ‘B’ requires 20
days to complete the job. Both of them worked together for 3 days and then A
left the job. To complete the remaining job, how many days ‘B’ will require?

(1) 18 2) 15 3) 12 4 10

35.  Mrs. Desai purchased 30 tables. Out of that she sold 25 tables and received the
same amount which she had spent to purchase 30 tables. Find the percentage
of profit or loss in this transaction.

(1) 25% profit (2) 20% profit
(3) 20% loss (4) 25% loss

SPACE FOR ROUGH WORK
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31.

32.

33.

34.

3S.

A hHINT

3x+2 |, 2x +1 _

6 T3ty =S
(@ @& fohew gRim)
M 3 Q) 2.5 3) 3.5 @ 35

Th &g B 150 ¥ H d=d W o wH OB ®, IEh @ OT AW 3§
Feg B 275 F B SOH W BT B, d 3@ 9% I gd himd fhad wWA?

(1) 225 (2) 250 (3) 175 (4) 200
2x2 + 7x + 6

x> — 13x — 30

n 23 @) 53

() 573 @ 573

TH FHH QO HH kT A w12 fF F@ R oA B w20 feF @@ R
T oot I8 M 3 fod wd B 3N A W DR Al W@l gl df A9

W T %W QU HH ok f9¢ B H fohad fa amre
(1) 18 2) 15 3) 12 ) 10

fidt gEE 9 M8 ge¥ W 30 9 @l 3 Hod IRl 25 Ed SeH W

e a1 38 EER H Il FhadT Widwrd W de ®H gS Y

(1) 25% <™ (2) 20% <™
(3) 20% = 4) 25% =
T HE T T
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36.

37.

38.

39.

40.

41.

3% = 27Y = 92 = 729. Find the value of (xyz)2.
1) 36 Q) 216 3) 6 @ 11

Which of the following polynomial has the co-efficient form (2, 0, 0, 0, 0, —5)?
() 2x* -5 2) 20 -5 3) 2x° -5 4) x> -5
A ditch 20m. long 10m. wide and 5m. deep was dug and soil was spread

evenly over a ground that was 25m. long and 20m. wide. What was the
thickness of the soil spread? (Choose two correct options)

(1) 20decimeter (2) 20cm.
3) 2.0m. (4) 20m.

The diameter of a ball is 20 cm. Find the volume of the air in the ball.
(m = 3.14)

(1) 41866.7 cubic cm. (2) 4186.67 sq. cm.
(3) 418.67 cm’. (4) 4186.67 cubic cm.

The price of a washing machine is Rs. <i+£>. Find the price of (%—%)

: . y 6
washing machines.

o (5-3) o (5+3)
® (%35 @ (B-3)

A car travelled the distance 38 km, 27 km, 40 km, 35 km in the first four
hours respectively. How much distance the car should travel in the fifth hour,
so that the average speed of the car will be 35 km/hr?

(1) 25 km (2) 40 km (3) 45 km 4) 35 km

SPACE FOR ROUGH WORK
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36.

37.

38.

39.

40.

41.

3

3 = 27V = 92 = 729 @ (0z)2 = 7
(1) 36 (2) 216 (3) 6 4) 11

(2, 0, 0, 0, 0, -5) 38 TUHATAT EIG HH-H a7
1 2% — 5 2) 26 — 5 3) 2 — 5 4 x — 5
T wd H 20" x 10 x SHI TEU Tger Wiew IW H Meeell fedt 25+

e 9 20 SSE 9 AgH W Uh o has af fiedl @ fhad Hiergaren
T daR Bm? (2 HE faeew giw))

(1) 20 sffler (2) 20 @+t (3) 2.0 X (4) 20 #rx
forft wh Tie W owE 20 THI B, O 3@ Ve & I’ UG FAT B HABA
IETEIN

(1) 41866.7 =@t (2) 4186.67 ot

(3) 418.67 o3 (4) 4186.67 =@

w i W E ow g (34Y) w E @ W@ ($-3) dfim wfw
I H Jed fehaqr?

o (53 @ (5+33)
® (3%-%) @ (34

T d8d 4 UYsd IR e W o wEw: 38 T, 27 TR, 40 feft ei
35 fpft gl @@ il ur=e B¢ | fhadt gt 9@ U W 3W dred I sfEd Tl
35 fepdft/ufc wer BNfi?

(1) 25 feort (2) 40 ferrt (3) 45 fedt (4) 35 ferdt

T HE T T
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Directions for Question 42 and 43.
In the following ‘Percentage Bar Diagram’ the percentage of expenditure and
savings of Shri Tushar is shown. Observe the graph and answer the questions
that follow.
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SPACE FOR ROUGH WORK
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42.

43.

44.

45.

46.

47.

Shri. Tushar’s income in the month of February was Rs. 40,500. Find his
savings in that month.

(1) 12,150 (2) 28,350 (3) 12,500 (4) 28,000
Find the ratio of savings to expenses for the month of ‘May’.
(1) 17:3 (2) 5:17 3) 17:5 4) 3:17

Laxmanrao purchased shares worth Rs. 10,500 and paid 0.5% brokerage. Find
the amount spent to purchase the shares including brokerage.

(1) 15,052.50 (2) 52.50 (3) 10,552.50 (4) 1,044.50

Choose the correct alternative in which all the pairs are matched correctly.

A) 2 —17y-60 a. (y—12)(y-95)
B) y2—17y+60 b. (y+20)(y—3)
C) »¥+17y-60 c. (y=20)(y+3)
D) y2+17y+60 d (+12)(y+5)
(1) A-c, B-d, C-a, D-b (2) A-c, B-a, C-b, D-d
(3) A-a, B-c, C-d, D-b (4) A-d, B-b, C-a, D-c

The inner surface of a cylindrical well of height 14m and radius 250 cm is to
be plastered with cement-sand layer. At the rate of Rs. 100 per square meter,
what will be the total cost in rupees?

(1) 22,000 (2) 22,00,000 (3) 2,20,000 4) 220

A shopkeeper sold two articles with marked price Rs. 1900 to A and B. He
sold one article to A by giving discount of Rs. 171 and sold another article
to B by giving discount of Rs. 152. How much was the difference between
the percentage of discount given to A and B?

(1) 05 2) 19 3) 1 4) 0.1

SPACE FOR ROUGH WORK
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42. ot quRSH A WEH T AT T 40500 7, dq I Higd HI w=d Rl ?
(1) 12150 2) 28350 (3) 12500 (4) 28000

43. O mfgr &t S9d q1 @I H UK fehaAT?
(1) 17:3 (2) 5:17 (3) 17:5 4) 3:17

44. dEAUSHH 10500 FOT ok WAE Wil 3 W 0.5% cdret & Wi d, e
e BeE A UG qou fehdd w?
(1) 15052.50 (2) 52.50 (3) 10552.50 (4) 1044.50

45. @Rt Wi adft SifsE W wd W= g
A) 2 — 17y — 60 a. (v - 12) (v — 5)
q) 2 — 17y + 60 b. (+20) (- 3)
®) 2+ 17y — 60 c. (y—-20) (@ +3)
g) 2+ 17y + 60 d. @+ 12) (y +5)
(1) HA-c, d-d, -a, S-b (2) HA-c, d-a, %h-b, S-d
(3) 3A-a, d-c, b-d, S-b (4) 3A-d, d-b, -a, S-c

46. Toret GegeaR HE A MRS 14 Hiw qun B 250 TH B ¢ % oAl
TSHTT I TARH & o fg 100 & Jfd o X @ d FA fohad .
Td Y
(1) 22,000 (2) 22,00,000 (3) 2,20,000 4) 220

47. gHMER 7 1900 & 3Afhd Hedarell & a¥qC A H 171 AR B H 152 &
P2 oH &, al gF kI @ TR P H gHMER A fohdd Ufdwra w1 SFax feman?
(1) 0.5 2) 19 3) 1 4) 0.1

T HE T T

0311-Hindi Set-A 17 of 32 P.T.O.




48. In the adjoining figure Zy = 90°, l(xy) = 8m. I(yz) = 15m, WM 1 XZ,
WM = 6m. Find the area of the figure.

W%
X
M
gm
Y_| 4
I15m
(1) 171 (2) 111 3) 162 4) 222

49. Two lines are intersecting each other. The measures of the vertically opposite
angles in a pair are (2x + 65)° and (7x — 10)°. Find the measures of each
remaining angle.

(1) 95° (2) 85° 3) 75° (4) 105°

50. AC is the diameter of a circle. ‘B’ is any point on the circle. Find the false
statement from the following. (Choose two correct options)
(1) «£BCA < 90°
(2) ABCA is an acute angled triangle
(3) «Z£CAB > 90°
(4) Measurement of the arc ABC = 180°

51. Two rectangular grounds have area 1541 sq. m. and 759 sq. m. respectively.
If both the grounds have same breadth, find the breadth of the ground.
(1) 33 m. (2) 69 m. (3) 23 m. (4) 67 m.

SPACE FOR ROUGH WORK
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48. HaW AWM H LY = 90°, [(XY) = 8 H, [YZ) = 15 ® WM L XZ,
WM =6 M a oThfd & f@ ™ q@s &1 &9%a fhan o e smm?

W

X

M
8Tt
H
Y z
157,

(1 171 2) 111 (3) 162 4) 222

49. @ W TH gR I Tioesfed wA B G R FHa AfuiftgE won %
oY (2x + 65)° 3 (7x — 10)° B, @ AT BN & HY fohad &M ?
(1) 95° (2) 85° (3) 75° (4) 105°

50. TUH ged w1 AE AC ? IR B fog gearm w1 wE ww fog 2, @ el
4§ Ted U HH-E 87
(1) ZBCA < 90°
(2) ABCA =& f3ys 2|
(3) ZCAB > 90°
(4) =9 ABC % ® 180° R

51. 9AF <SEdd < IR AeMl Rl &F%d  ShAW: 1541 & Hi. 3R
759 =t i, B, @ Heml h SR fohadl?
(1) 33 H. (2) 69 Hi. (3) 23 H. (4) 67 Hi.

T HE T T

0311-Hindi Set-A 19 of 32 P.T.O.



52. If (17 x 19 x 4) + m = 161.5 then find the value of ‘m’.
(1) 0.6 2) 7.0
3) 0.8 4) 8.0

53. Find the value of /992

(1) 31.05 (2) 315

3) 31.25 (4) 325
54.  Which of the following is an irrational number?

(1) 3.14 @ %

3 = (4) 3.142857

55. Where is the ortho centre of a right angled triangle located?
(1) In the interior of the triangle. (2) On the vertex of the right angle.
(3) In the exterior of the triangle. (4) Anywhere on the triangle.

56. Four numbers p, q, r and s are in proportion. Then find the correct statement
from the following. (Choose two correct options)

M F=7 @ §=1
() pq =18 (4) sp=qr
57. ‘x’ years hence, Mariya’s age will be ‘y’ years. Then find her age 10 years
before.
(1) y—-—x+10 2) y-x-10
3) y+x+10 4 y+x-10
58.  Find the value of 31.25%.
5 3 5 12
ONETS 2) ¢ 3) g% @ 40
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5. (17 x 19 x 4) =+ m = 1615d@ m = ?

(1) 0.6 2) 7.0
(3) 0.8 4) 8.0
3. Joont =2
(1) 31.05 (2) 315
(3) 31.25 4) 325
54, fTm=fafed @ @ i@y d@n $HE-Hi?
22
(1) 3.14 2 =
3) = (4) 3.142857
55. wwehH Biqe H Mvciel % @9d fog %1 T wE Bl 27
(1) Bys & 2@ 9 #H) (2) HERH SEHA RMHleg W
(3) Bys & s wm #H) (4) By W & of

56. p,q r,s T8 O TEC U@ W B Al M H @ WA HAT UgEIAC
(@ w& Wt )

P_d _ _
n -1 @ ¢=7 (3) pa=rs @ sp=ar
57. x a9 % o wiEm hI 3W p a9 B, @ 10 99 Uged Imehl 39 feRadt oft?
() y—x+10 2) y—x-10
3) y+x+10 4 y+x-—-10

58. 31.25% = feRam ?
12

O 1y @ Ty 3) % @ 12

T HE T T
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59.

60.

61.

In the adjoining figure ZTPQ = ZTPR. Side PQ = side PR. Then by which
test AQPT and ARPT are congruent?

P

Q R
(1) S-A-S (2) S-S-S (3) A-S-A (4) S-A-A

The measure of an angle is % times the measure of its supplementary angle.

Find the measure of its complementary angle.
(1) 30° (2) 90°
(3) 150° 4) 60°

A school had arranged a trip and started on Saturday at 6.30 a.m. They returned
the next day on Sunday, at 8.15 p.m. Duration of the trip was for how many
hours?

(1) 253 hours (2) 373 hours

3) 37% hours (4) 47 hours 45 minutes

SPACE FOR ROUGH WORK

0311-Hindi Set-A 22 of 32 Contd...



59.

60.

61.

f= fg T ampfa § £ TPQ = ZTPR, ¥ PQ = Y= PR, @ AQPT 3 ARPT,
77 4 P fem *Eld % @R weaimem R?

P
OO
T
Q R
(1) Y-=1-9 2) 4-4-Y
(3) HI-9-H (4) g-hI-h

%ﬁaﬁ‘—rwwma’wﬁq%m%%w%,?ﬁww%
HIFCQEH HH &1 AW Fha?
(1) 30° (2) 90° (3) 150° 4) 60°

et e fogmem & fusfre wfer #emgagd 6:30 s et g f&
foar & 98 ASEcal 8:15 w6 d% | omrft, @ Ui Ha fehad

WA w?

(1) 253w @ 373 W
3) 374 @ @) 47 W 45 fire
T HE T T
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X4 62 A square piece of paper having length 8 cm. is taken, squares of size 1cm % 1cm
¥ are cut at its four corner places. Find the difference between the perimeters
of the original paper and the paper which is cut at its corner places in cms.

1 o 2) 8 3 1 4) 4
63. Observe the following figure and select the correct statements.

B

A

(A) Line AB and line BA are different lines.
(B) Line AB and line DC intersect at ‘O’.
(C) Point C, O and B are non-collinear points.

(1) ‘A’ and ‘B’ are correct. (2) ‘B’ and ‘C’ are correct.
3) ‘A’, ‘B’ and ‘C’ are correct. (4) ‘A’ and ‘C’ are correct.
64. Find the capacity of a hollow cube whose side is 10 cm. (Choose two correct
options)
(1) 1 Ilitre (2) 1000 cubic cm
(3) 1000 litre (4) 100 ml

65 Area of a circle is denoted by ‘A’ and radius by ‘7’. Choose the correct statement
from the following that states the correct relation of variation between A and r.

1

(1) Aoxr (2) AOCP
3) Ao L @) A o« 2
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62.

63.

64.

65.

$Ul TETRATl UH ! HATS I ookl IHeh =N iU 1 x|
HY o HEH o q JA SN hl IR T HI0T HREH W 70 99
HrTe i uitfafd o fohaar @t TR SR ?

(1) 0 2) 8 3 1 4) 4

T ARfd % fou e § @ eH-w wed wE ®?

(37) W1 AB 9 W@ BA ¥g @ @l Bl
(@) W1 AB @ W@l DC W& O fag # ufe=sfa z|
@) fog C, O @1 B 3Rfgw fog 2|

() & a9 @& 2) ¥ M wH w@

3) & F qm F wE (4) 3 quw w wH@

10 Tt qSETdl T Wiell T 1 A™GH fehaar? (2 wEl w9 giw)
(1) 1 & (2) 1000 =@

(3) 1000 <fiex 4) 100 fireh

god 1 &R A @ AR Bem g @ AT SR Y % e W dey
9 foeror & fogd &1 3w &k fofEu)

1

(1) Axr (2) Aoc?
3) Ax L 4) A o« r?
T HE T T
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66.

67.

68.

69.

Find the correct pair of twin prime numbers from the following in which the
addition of twin prime numbers is more by 44 than the sum of all prime
numbers between 1 to 25.

(1) 71, 73 (2) 41, 83

3) 59, 61 (4) 41, 43

If the ratio of the measures of angles of [LJABCD taken in order is 7:8:4:5.
Find the type of [JABCD.

(1) Kite (2) Rhombus

(3) Trapezium (4) Parallelogram

Find the smallest number from the following such that when it is divided by
every one digit prime number, every time the remainder is 1.

(1) 106 (2) 211

3) 31 @ 71

Saurabh invested Rs. 5000 for 3 years at rate 10 p.c.p.a. with simple interest.
Yashashri invested same amount for the same period at the same rate of interest
with compound interest. Compare the interests earned by Saurabh and Yashashri.
(Select two correct option)

(1) Interest received by Yashashri was less by Rs. 1655 than Saurabh received.
(2) Interest received by Yashashri was more by Rs. 155 than Saurabh received.
(3) Interest received by Saurabh was more by Rs. 155 than Yashashri received.

(4) Interest received by Saurabh was less by Rs. 155 than Yashashri received.

SPACE FOR ROUGH WORK
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66.

67.

68.

69.

= g = FA- sasw gm dwmet A AifsAi w1 Aed J| 1A 25
TH o AUST TEARA & IMHA & 44 H ARE B
(1) 71, 73 (2) 41, 83
(3) 59, 61 4) 41, 43

[JABCD % ShEST: IVl o WUl @1 UM 7:8:4:5 & @ ABCD &l TR
REEUEL

(1) wam (2) wHATE =G

(3) FHeE FgES (4) FHIR FgYS

frel tw TEE sl Ol Th SThaell VTS TSI ¥ 9T o W1 3hA
Aar g, @ F=faRgs @ @ 98 = @ S W wa-H?

(1) 106 @) 211

3) 31 @ 71

GRY 3 5000 ¥ 10% & @ ¥ 3 9§ & fou @emw & @ foa aweh 3
a1 & A I @ ° I G % fau wshgfed =W & @ a1 el Wi
fir =9 f1 gaw i

(1) et @ RY ¥ 1655 & S w9 e

(2) IWEf B GRY W 155 T AN AfGE e

(3) WRY & I W 155 ® &AW AfGE e

(4) "Ry & w155 F AN Hu e

T HE T T
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70.  Which of the following can be the measure of an angle in the minor segment?
(1) 45° (2) 135°
(3) 180° 4) 90°
(497 + (2.1)3

(4.9)2 — (1029 x 1) + 4.41

(1) 0.7 2) 28 (3) 28.42 4 7.0

71. Find the value of

72.  There is a regular hexagon having each side 14 cm. On every side a semicircle
is drawn from outside the hexagon, taking each side as the diameter. Find the
perimeter of the figure so formed.

(1) 132 cm (2) 308 cm (3) 216 cm (4) 123 cm

73. In the adjoining figure, an isosceles trapezium is drawn. The measurements
of sides of the figure are as follows.

I(QR) = /(PS) = 5 units,
I(PQ) = 5 units, /(PT) = 4 units. Find the area of [IPQRS.

P 5 Q
5
4
B []
S T M R
(1) 32 units (2) 44 sq. units
(3) 32 sq. units (4) 24 sq. units

SPACE FOR ROUGH WORK
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70.

71.

72.

73.

TYId @S H HOU K AW H F H RE-T B FHAT a7
(1) 45° (2) 135°
(3) 180° (4) 90°

(4.93 + (2.1)3

= fpamr?
(4.9)2 — (1029 x 1) + 4.41

(1) 0.7 2) 28 (3) 28.42 4 7.0

14 ¥f YSETe WU I Yok WS oA WM 38 W S #  IHeed
T T Al, IR BHaTel SAR(d oAl ifHfa TRl ?
(1) 132 @t (2) 308 @ (3) 216 @ (4) 123 @t

= omepfa Tmefays TWee =wgds 1 21 W uSell % "W f@ Rl
IQR) = [(PS) = 5 W
IPQ) = 5 31, [PT) = 4 &8 df [JPQRS &1 &% fehcHT?

P 5 Q
5
4
| [
S T M R
(1) 32 K (2) 44 T TR
3) 32 @ T 4) 24 T T
T HE T T

0311-Hindi Set-A 29 of 32 P.T.O.

SV NSO NSO NS NS

>

&




74. Instead of investing Rs. 3000 with simple interest for two and half years, if
Rs. 4000 are invested with simple interest for two years, interest of Rs. 25 is

earned more. What is the rate of interest?

(1) 10% 2) 6% (3) 4% ) 5%

75. Read the following statements and choose the correct alternative.
(A) 29, 31 are twin prime numbers.

(B) 29, 31 are co-prime numbers.

(C) 29, 31 are prime numbers.
(1) “A’, ‘B’, ‘C’ are correct. (2) Only ‘A’ and ‘C’ are correct.
(3) Only ‘B’ and ‘C’ are correct. (4) Only ‘A’ and ‘B’ are correct.

SPACE FOR ROUGH WORK
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74. HEWO @S ¥ 3000 & e % s§ed 4000 % @ I8 & fau feF @ 25 w.
& Ifees fierar 8, @ &€ ft @ fhadt Brt?

(1) 10% 2) 6% (3) 4% @) 5%

75. @@ M s wem 3tua wlw g
(31) 29, 31 I8 A¥SY JH T&AT Bl
(@) 29, 31 98 W IWST & @l
(®) 29, 31 I§ AYST T 3|

(1) 3, 9, % T ) fE ‘I oqwm F ud
3) e T dw & wE 4) fd ‘e aw T owEn
T HE T T
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